30

6 3

FRI0FE F1EME —EREt B AMEH—KEXR

- 1ERE (B FA)
S 15 B BRE SHER & &t
04 HEE 02IRIBEAE 03 FIEE 3 3
06 2MEE O1EMEE 04 th Z 8,500 8,500
& F 3 8,500 8,503
B 13FEH (B FH)
5 ERREH =
3 e B () a8 m
BREE O3 RERUE 0REFTE 2,800 2,800
044 ERES 014 ERESR 1,620 1,620
06EMEE O1EBMEE 04EME 1,512 1512
& H 5,932 5,932
i 19REE, MBRUR S (BAE:FM)
. wHEE A =
= 18 8 FOihEES (S4E2) & &t
03R4 % 03 REEUE 03REFTE 7,651 7,651
08t K& O3ZR T EHE & 02T IR EXEE A 70,000 A 70,000
& it A 70,000 7,651 A 62,349
GHD) EBEEHAR (Bifsi: FH)
w|E|e | B2 B2 R EBERHONE L9)7 54 | MEFHE
03| 03(03]| 02 [REFMEESEE YREERER |RELSFIVIT7YIHHEERZRH 0 2,800
03|04 01| 02 |EFXIEEE HEEXIER EEREEF AT LREEBELH 791 1,620
06|01 (04| 02 |BEXRAMRNEEE EXREE MEFERAEEFRTH 0 1,512
(Bt#H2) #HB £ AR (B4 FH)
w|m| 8 |FR x4 P RY2ONE 1Y) FHE | HEFHE
03| 03|[03]| 02 [REMEEEX YRBERER |RETSEHRLHEESEHDS 0 5,693
03(03]|03]| 07 |RECELEEES% YRBEBREF REMEFEHRHILEESEMDS 0 1,958




